

May 10, 2021

## INTERNAL POSTING

# NOTICE OF VACANCIES STIPEND POSITIONS PER IEA AGREEMENT

#### 2021-2022 SCHOOL YEAR POSITIONS

Please review the following listing for all open stipend positions for the upcoming 2021-22 school year. Please be sure to fill out the application and submit to the appropriate Principal.

An application can be found on our district website under "Staff Resources – Stipend Information". \*Stipend information based on the current IEA 2018-2021 Bargaining Agreement \*All positions may not be filled

EOE

IHS -Fine Arts Stipends		Total
Art club advisor-IHS	\$1,000	\$1,000
Band Director-IHS	\$3,200	\$3,200
Choreographer-IHS	\$1,000	\$1,000
Drama Director-IHS (per play/yr) Spring/Fall	\$3,250	\$6,500
Drama Costume Director-IHS per yr	\$1,100	\$1,100
Drama Set Director for Plays-IHS \$300/show	\$300	\$1,200
Drama Tech Director for Plays-IHS-\$300/show	\$300	\$1,200
Drama Musical Director IHS	\$1,300	\$1,300
Music IMS/HS Orchestra Director	\$650	\$650
Music Choral Director - IHS	\$1,100	\$1,100
Music IHS Accompanist	\$1,500	\$1,500
Music Select Chorus Director	\$600	\$600
		\$20,350

IMS -Fine Arts Stipends		Total
Art club advisor-IMS	\$1,000	\$1,000
Choreographer-IMS	\$1,000	\$1,000
Drama Costumer-IMS per yr	\$1,000	\$1,000
Drama Director-IMS (per play/yr) Spring/Fall	\$3,250	\$6,500
Drama Music Director - IMS Musical (one show)	\$1,000	\$1,000
Drama Set Director for Plays-IMS	\$500	\$500
Drama Tech Director for Plays-IMS	\$500	\$500
Drama Musical Accompanist IMS	\$1,000	\$1,000
Music IMS/HS Orchestra Director	\$650	\$650
Music Choral Director - IMS	\$650	\$650
Music IMS Accompanist	\$4,800	\$4,800
Music MS Band Co-Director (2)	\$350	\$700
Music MS Jazz Band Director	\$600	\$600

Elementary -Fine Arts Stipends		Total
Art Show - each elementary	\$150	\$300
Music Elementary (per school):		
Band (4th&5th)	\$300	\$600
Orchestra (4th&5th)	\$300	\$600
Choral (4th&5th)	\$300	\$600
Musical/Concerts(General Music)	\$300	\$600
Music Accompianist (elementary)	\$1,500	\$3,000
		\$5,700

### Professional Development/Curriculum

Professional Development/Curriculum Stipends for SY 2015-2016 through SY 2017-2018 inclusive		
Professional Learning Community (PLC) Leader (up to 25)	\$1,300	
Compass Leader (up to 25)	\$1,300	
Technology Specialist (up to 25)	\$1,300	
Department Head - IHS	\$3,650	
Educator Evaluation (1/school + 1 fine arts)	\$1,300	
IMS Cluster Coordinator (6)	\$600	

### Co-Curricular

Co-Curricular Stipends for SY 2015-2016 through S	Y 2017-2018	
inclusive		
		Total
Bookroom Coordinator (Doyon - 2)	\$250	\$500
Chameleon Literary Magazine - IHS	\$1,000	\$1,000
Class Advisor-faculty (each grade)	\$3,250	\$13,000
Community Service-IMS	\$1,000	\$1,000
Data Team (1/school +1 coordinator)	\$250	\$1,250
Elementary Conferences (\$100 fall, \$100 spring per	\$200	\$9,000
teacher)		
Environmental Club-IHS	\$750	\$750
Foreign Language Club	\$500	\$500
Grade 6 field trip coordinator	\$1,000	\$1,000
Grade 7 field trip coordinator	\$1,000	\$1,000
Grade 8 field trip coordinator	\$1,000	\$1,000

GSA/Diversity	\$750	\$750
Guidance IHS - Summer scheduling adjustment (per	per diem	per diem
diem)	per diem	per diem
Homework Club Coordinator (2) SPED Elementary	\$300	\$600
Honors reception coordinator (2)	\$300	\$600
IMS/IHS Building Scheduler	\$2,000	\$2,000
Interact Club-IHS	\$500	\$500
International Club-IHS	\$500	\$500
IPAC Director	\$8,000	\$8,000
Ipswich Advisors and Mentor (IAM) Coordinator-Doyon	\$300	\$300
Journalism	\$1,500	\$1,500
Kindergarten - Data Input (3)	\$750	\$2,250
Marine studies coordinator-IMS	\$750	\$750
Math League Advisor (2)	\$500	\$1,000
Math League Leader	\$1,000	\$1,000
MCAS Administrator (1/school)	\$1,000	\$4,000
MCAS Tutor - (15 - elementary)	\$360	\$5,400
Medical Paperwork - 6th and 8th grade trips (\$300/trip)	\$300	\$600
Mentor - elementary (8)	\$800	\$6,400
Mentor - IHS (5)	\$800	\$4,000
Mentor - IMS (2)	\$800	\$1,600
Mentor Coordinator - Elementary	\$2,000	\$2,000
Mentor Coordinator - Secondary	\$2,000	\$2,000
Model UN (2)	\$500	\$1,000
National Honor Society Coordinator	\$1,000	\$1,000
Nurse Coordinator - Elementary	\$1,800	\$1,800
Nurse Coordinator - Secondary	\$1,800	\$1,800
People to People	\$500	\$500
Quiz Bowl	\$700	\$700
Schedule Prep - Doyon	\$600	\$600
School To Work/Bridge/Job Shadow (2 x \$2500)	\$5,000	\$5,000
Science League	\$500	\$500
Senior Graduation Advisor	\$1,000	\$1,000
Student Leadership Council (Winthrop)/Early Act (Doyon) Coordinators (2 each school)	\$600	\$2,400
Student Leadership Council (Winthrop)/Student Leadership Team (Doyon) Members (2 each school)	\$300	\$1,200
Student Leadership Team (Doyon)/Early Act Leadership Council (Winthrop) (2 each school)	\$500	\$2,000
Student Service Leadership Senate-IMS	\$1,000	\$1,000
	-	

Substitute Callers (4)	\$2,000	\$8,000
Talent show coord. (3)	\$100	\$300
Technology Specialist Coordinator	\$4,500	\$4,500
Yearbook Coordinator-IHS	\$2,450	\$2,450
Yearbook Coordinator-IMS	\$2,100	\$2,100

#### Special Education

SPECIAL EDUCATION STIPENDS				
Admin Asst - elementary (\$1,000 and \$500) SPED	\$1,500			
Summer tutoring (3 x \$1,080)	\$3,240			
SPED Program Manager (4 x \$2,604))	\$10,416			
Oversee summer SPED program-elem principals (2)	\$1,500			
		Summer 2019	Summer 2020	Summer 2021
Supervisory coverage summer SPED		\$50 per hour	\$50 per hour	\$55 per hour
		scheduled to work	scheduled to work	scheduled to work

Effective summer 2019 and 2020, replace the per diem rate for summer work in Appendix B for "Supervisory coverage summer SPED" (p. 52) with the hourly rate of \$50.00 for the hours the employee is scheduled to work. Effective starting with the summer of 2021, the rate shall increase from \$50.00 per hour to \$55.00 per hour for the hours the employee is scheduled to work.